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1. (i) What is Finance function?

foeer @l | F AR &7

(i) Define time value of money.

YeT 1 F9E T B ORI Hif

(iii)y What is SWOT Analysis.

wre faeeror F 87

(iv) Explain the meaning of project finance.
qREARTHT o | o W ST

(v) What is leverage?

(vi) What is pay Back period?
YR oTafy @ 87

(vii) Define operating cycle.
qfenes @5 B RWIG i
(viii) What is ABC Analysis?
o, s w1 8?
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Discuss the salient features of a stable divident policy.
R i SR 3 oE e @ e iR

How may optimum level of working cash balance is
determined?

FAidf Abe I B SFATT WX H A EiG B
S 87

What do you understand by receivable managemnt?

Explain its objectives.

T & TER § ST T FHIA &F 39 Igavdl Bl AEA
E2I eI
Section-C

(Long Answer Questions)

Calculate operating, Financial and combined leverage
from following data-

yftere el o dgF Il $ TR BT
Sales- 100 000 Units @ Rs. 2 Per Unit

Variable Cost @ Rs. 70 Per Unit

Fined Cost Rs. 100 000

Interest Charges Rs. 3668

What is capital budgeting? Explain the procedure of
preparing capital Budget.

Yofl aTed & oY T WS &7 Yol Sore S B kAT
T THHART |

Following information are available. you are required

to calculate weighted average cost of capital.

P geralt & oo Oof @ ARG ol AR B O

grs-4q
(& i o) N B
Note: Answer any two questions. You have to delimit your
any ™R 9 y Sources of Funds Amount (Rs.) OoMHﬁMM Mww:m_

answer maximum upto 500 words. Each question
e rds Ay Debt Capital 6,00,000 5%
carries 16 marks. Preference Share Capital 2,00,000 10%
2x16=32 Equity Share Capital 4,00,009 15%
Retained Earning 8,00,000 12%

Ae: B @ g 3 IOT AINTT SIS ST IUX & SAfmaH
500 g/ & GRTT HT 21 UDS 9T 16 ST H B

: 2x16=32
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